Hiustration 25 : (Table Method - bitterent »uwui=sj
The following details are available.

1. Inventory requirement per year 6,000 units.

2. Cost per unit (other than carrying and ordering costs), 33

3. Carrying costs per item for one year, X 1.

4. Cost of placing each order, X 60.

5 Alternative order sizes (units) : 2,000; 1,200; 1,000; 600 and 200
Determine the economic order quantity.

Solution :
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Illustration 41 :

From the following information, prepare Stores Ledger and find out value of Closing Stock as p
FIFO method :

1 Balance 500 40
2 Sales 300 50
6 , Purchases 800 44
gl - Sales 400 52
12 Sales 300 53
14 Purchases 400 50
26 Sales 600 54
Shortage of 15 units was found on 31st January, 2019.
Snlitinn : (T.Y.B.Com.. Nov. 2017. Mar. 2018. adabpte
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lllustration 48 : [Earnings (2 Workers) and Cost (3 Jobs)]
Calculate the earnings of A and B from the following particulars for a month and zlloczte the lzbour

costto each job X, Y and Z :
A B
(i) Basic Wages : 100 160
(i) Deamness Allowance 50% 50%
(i) Contribution to Provident Fund (on basic wages) 8% 8%
(iv) Contribution to Employees’ State Insurance (on basic wages) 2% 2%
Hours 10

(v) Overtime
The Normal working hours for the month are 200. Overtime is paid at double the total of norma!

wages and dearness allowance. Employer's and Employees’ contribution to State Insurance and
Provident Fund are at equal rates. The two workers were employed on jobs X, ¥ and Z in the

following proportions:

Jobs
X Y Sz
Workers A 40% 30% 30%
Worker B 50% 20% 30%

Overtime was done on job Y at the request of the customer.
(T.Y.B.Com.. Oct. 2014. 2018. adapted)

Calicilawm .
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ixAH = T10J22 10 =

Hiusiration 35 - (Job Cost under Hailssy / Row=n)
Vsl coSt o Pe b T8 ax

A worker i=zkes 6 hours D

allowed for The job s 9 howrs. His wage r=i= = T 1.50 per fours.
fhe overheads are recoversed af 150% of Fie b=l direct w=ges. Caicuss: T Sy oo o oo
ender (2) Row=an and (b) Halsey sysiems of Inceniive. 3 %
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enis; K N, H and S are production departments and T is 3 Servics

e s Ve ucpal il

department. The actual cost for a period are as follows :
Repairs | 35 nog
Rent 25‘000
Depreciation 42,000
Supervision 40,000
Insurance e
Light 18,000
6,000

Employer’s liability of employees’ insurance
The following information is also available in respect of the five departments :

SNSRI NE
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Rc'vmu'iﬁuli“" of Cost and Financial Accon 10 "
jlustration 21 :

From the following particulars prepare:

(a) A Statement of Cos@ of Manufacture for the ye
(b) A Statement of Profit ag per Cost Accounts:
(c) Profit and Loss Account in the Financial Bo‘oks; and

(d) Show how you would attribute the difference in the profit as shown by (b) and (c)-
Particulars

ar ended 2013;

-~
Opening stock of Raw Materials 2.88,000
Opening stock of Finished Articles 5,76,000
purchases of Raw Materials 17.28,000
stock of Raw Materials at the end 4,32,000
Stock of Finished Articles at the end 1,44 000
wages 7 20000

Calculate factory oncost at 20% on prime cost, and office on cost at 80% on factory on cost. ACU_J&I
works expenses amounted to T 4,54,300 and office expenses amounted to ¥ 3,71,900. The seling
price was fixed at a profit of 20% on cost.
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